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1. Given that E and F are events such that P (E) = 0.6, P (F) =0.3and P
(En F)=0.2, find P (E|F) and P (F|E)

Solution:
GivenP(E)=0.6,P(F)=03andP(En F)=0.2
We know that by the definition of conditional probability,

P(AN B)

P(A|B) = P(B)

By substituting the values we get

P(ENF) 02 2

=PER = —m = 03”3
_ PEE) _0z_ 2 _1
And: P(FIE) = P(E} 06 6 3

2. Compute P (A|B), if P (B) =0.5and P (A n B) =0.32
Solution:

Given: P (B)=0.5and P (A n B)=0.32

We know that by definition of conditional probability,

P(AN B)

P(A|B) = P(B)

Now by substituting the values we get

p(al) = 032 _32_16

= =05 50 25

3.1fP (A)= 0.8, P (B) = 0.5 and P (B|A) = 0.4, find
()P (A N B)

(if) P (A[B)



(i) P (AU B)

Solution:

Given P (A)=0.8,P(B)=0.5and P (B|A)=0.4

(i) We know that by definition of conditional probability,

P(ANB
P(BIA) =
=P(AnB)=P(B|A)P(A)
=P(ANnB)=04x0.8
= P(ANB)=0.32
(if) We know that by definition of conditional probability,

P(AN B)

P(A|B) = P(B)

Now substituting the values we get

0.32

= P (A|B) =0.64

(iii) Now, * P(AUB) =P (A)+ P (B)—P (A n B)

Substituting the values we get
=P(AUB)=0.8+0.5-0.32=13-0.32

= P(AUB)=0.98

4. Evaluate P (A U B), if 2P (A) =P (B) =5/13 and P (A|B) = 2/5.
Solution:

5 2
Given 2P(a) = P(B) = 13 and P(AlB) = 5

5 5 2
P(A) = = 2, P(a]B) =

13%2

5

13’

= P(B) =




We know that by definition of conditional probability,

P(ANB)

P(A|B) = P(B)

= P(AnB)=P(A|B)P(B)

= P(ANB) =X —=—

Now, « P (A*B)=P (A)+P(B)—P (AN B)

P(AU B) 5+5 2 54+10—4 15—-4
= =t — = —
26 13 13 26 26

11
= P(AU B):E

5.1f P (A) = 6/11, P (B) = 5/11 and P (A U B) = 7/11, find
(i) P (ANB)
(i) P (A|B)
(iii) P (B|A)



